Foundations of Algebra Unit 6: Systems of Equations & Inequalities Notes

Graphing Systems of inequalities

The solution of a system of linear inequailifies is the infersection of the solution 1o each inequality. Every point in
the intersection regions satisfies the solution. Determine if the following points are a solufion 1o the inequality:
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Steps for Graphing Systems of Inequalities

Step 1: Solve each inequality for y (if necessary).

Step 2: Graph the boundary lines of each inequality. Use dashed lines if the inequality is < or >. Use a solid fine
if the inequality is < or 2.

Step 3: Shade the appropriate half plane for each inequality.
Step 4: Identify the solution of the system of inequalities as the intersection of the half planes from Step 3.

Quick Reminder: Whenever you multiply or divide an inequadlity by a negative number, you must flip the
inequality sign.
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Warniog... Potential Misconception!!]
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: Determining Solutions Located on a Boundary Line
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Creating a System of Inequalities from a Graph

Practice: Name each system of inequalities from the graph:
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